R0 3

( X" REE B

NiRBfE

EANTET

TE=

Z=
=

[k

R BLAA T







4

EXRSHRIE265

i e
(1) IRA
i) = SHIEE
D BEEEBEETE (A) 1,320,788
2 IBESEOMEEBEICESINA (B) D744
@ BIHALIEIINE Z5F 37,104
N5t 1,360,636
@ BESBECLIMA 0
£
=
Z
st 0
&5t 1,360,636
(2) T
18 B SH3FE
D SBE=E 1,360,636
NG 781,705
R =s 117,192
o EBE 275,320
FitE 186,419
Q@ BRBICHEDDERRE 0
SBESREDQ 1,360,636
@ BFS%E 3887
VER DL \E F & 279
i BESUCHBE/ \RIVE 304
= SN AR 304
387

gt

P
[

1,361,523




BRIE2S (INFERES)
2 SIEEEEFDINZNRE (BH3FE)

T 7 ; SiteE ()
SV NCE 1,360,636
@ mHLDOETR 1,320,788
2 e e BE DN EERICESEA D744
NRTEERE - FEH 46
18 |EFESH 1,160
ZLEREDRII 047
= 347
BEREEE S A A 244
@ BUEAIMETINSZ =48 37,104
_ & = A 5 a3tesE (TR
s 1,360,636
DEBESE 1,360,636

(1) IERBE23AD) D~@D 5t 136,610

@ 64,497

QFLE(UTE « @E) - KT - IFE - BIRENME) 47928

QEMNELEE IERER - VODTIRAES) 20,378

DIRFHEIT S I BB EDIEIL 3,807

(2) ZHB/E (61 AD) D~Q 5t 246,599

DR 166,710

QFHE (BED 40,623
A B B QEMNELE (ERRIEN « VDTHRAES) 39,266 781,705

3) EEFRETE (B6AD) D~ 5t 187,113

D#RBI(FEE1 14,400/, BEE211,900M, B2E260,200M) | 154,969

Q@FHE (BED 6,788

QEBAELE (ERRER « VDTERES) 25,356

(4) FEEEF/E(140AD)D~D &t 190,567

15 DEx (NEREO80H, ME= 1,000HNURLEE) 187,615

QENELEE (ERRER - VDTIRAZS) 2,952

B) —REEE MEED) 20,816

RESRE  TEZRE SEHaDU. SBeR 2078

BEEME | BE HoE 6,350

ERRE e - DESSERRN. PEEEMALD 15,780

DRIZAR | AEDAS - DN FHRS 2,620
EHE REE Eagmaw R& 3693 117,192

EHe 2 BEEEEHL. BRHIESHAL 0676

A AR SE YN T 73,291

&8s EBHEaSNans 60

£ wE EeTrREE 280

—REBE |EREH 3,359

SA=E By e ) 28.775

ISR IR - BREE 72,613

R SN 370
=IEE YEKE &5, 2. Lke 100080 275320

EER AVI RT3, Em!) —2X 52547

R TkE 4,056

wE % - EEREY. SRDE. TVEES 7318

—REBE | BEEH 0,561

.. BpZaiE ERETESRE 101
E0H mmann aEReE (2. e EEED 186318 186419
2 BB R DRREAR 0
HEEEA NREHHESARR 0] 0




KRIE25 IZFERES)
3 BEFEORZARE (FH3FE)

| W R S5t (FM)
(A INAGET (FH @)
5 SEBEESZEERINA SCHEEN [ CTENE @)
8
B 8 MW R BitesE (FM)
B %Hait (TH 887
ANGE EFKNE\ I TED
(1) BEE (1 AD) OD~Q &t
O == 35 64
QF BE (B - &BF) - 5 E - 1585 - HIREMNE) 20
ORMEALE HAREEEH 9
IBEMItIBE/\RIVE
(1) BBE (1 AD) OD~Q &t
O =] 35 64
QOF BE(EE - BY) - 5 E - 1585 - BIREMNE) 20
SRMELE HAREEEH 9
BAHIN N REE
= (1) BTWE (1AD) O~0 &t
- D5 35 64
S QF HBE (B - BE) - BE - 1HREN - BiREIMNS) 20
ORMELE HAEREHEEH 9
BHE EFRDMBUNEFED
BRERE SBEEREREG 10
SR BEANZR 150 215
EQEZEY BEEEBAR 7
WE SBEEFAARER 48
IBEMItIBEE/\RIVE 540
BRERE SBEEAREREG 240
NEREETEH
BRERE BEEFRBAES 240 240
ERE @)




